Multiplication de Trois Trinomes (F)

Simplifiez chaque expression.

1 (—5% —9s% — 3s5)(—s" — 25" — 35%)(—95° + 95 + 7Ts)

2. (40° + 8vt — 60°)(—=5v° + vt + 8v%) (40° + 6v* — 5v?)

5 (=Y —y® = 8y)(—6y° — Ty' — 6y°)(2y° + 25" — 5y”)

L (—4g® +29% +69)(59° — 29" — ¢°)(49® + 2¢° — 5g)

Ot

(b + 8% — 20%)(—8b? + 2b + 1)(—6b* — 9b® + 3b%)

6. (7a” — Ta* — 4a®)(—Ta* — 2a — 3)(3a® — 5a* + a?)

~3

(—5s® — 45 + 5)(—8s" — 45> — 25?)(35° + 5s* — 55%)

8 (2w? —w + 9)(=8w® — w* + 6w?)(—Tw? — 9w + 6)

~

0. (—4y* — 4y® + 8y) (= + y* — 3y°)(Ty* — y* — By)

10. (=28 + 45% — 5)(—8s* — 85 — 1)(—8s° — 35" + 45°)

MathsLibres.com




Multiplication de Trois Trinomes (F) Réponses

Simplifiez chaque expression.

1 (=s% =952 — 35)(—s" — 25* — 35%)(—95° 4 95% + 7s)
— 951 — 905" — 110s” — 45° + 38457 + 3125 + 635°

2. (40° + 8vt — 60°)(—5v° + 5vt + 8v?)(4v° + 6v* — 5v?)
= —80v" — 2000 + 3880 + 848v'? — 498! — 458v'° + 2400

5 (=Ty’ — v = 8y)(—6y° — Ty — 6y°)(20° + 25" — 5y°)
— 849" + 194y + 94y + 43y'° — 265y — 2149° — 240y"

1 (=4g° +2¢° + 69)(5g° — 29" — ¢°) (49" + 2¢° — 59)
— —80g" + 32¢'% + 2564 — 86¢° — 202¢" + 58¢° + 304°

(b* + 8b® — 20%)(—8b* + 2b + 1)(—6b* — 9b* + 3b7)
— 480" + 444p° + 3360° — 50707 + 756% + 300° — 6b*

ot

6. (Ta® — Ta* — 4a®)(=7a* — 2a — 3)(3a® — 5a* + a*)
= —147a" + 350a" — 161a'® + 174" — 88a® — 314" + 124"

7. (=5s® — 45% + 5)(—8s* — 45% — 25?)(35° + 5s* — 5s?) ,
= 1205 + 356s' + 1145'° — 1585 — 765° — 305" + 10s°

8 (2w? —w + 9)(=8w® — w* + 6w?)(—Tw? — 9w + 6)
= 112w” + 102w® + 263w” + 672w’ — 597w’ — 576w* + 324w

0. (49’ —4y® + 8y) (" + ' = 3y°) (7Y’ —yF —By)
= 28y — 4y!? — 20y” + 140y® — 188y" — 764° + 120¢°

10. (—25% 4 45% — 5)(—85% — 85 — 1)(—8s° — 3s* + 45%)
— —1285" + 805" + 2885% — 305" — 108s° + 135° 4 457
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